PARTS LIST FOR K.D. SINGLE-RING LOGO STOOLS

\ ary | PART USE FOR;

1 Upholstered "Logo” Seat

1 Swivel (with fop & boftorm offset)

1 Chrorre plated TOP leg with glides

1 Chrome plated BOTTOM leg with glides

1 Chrome plated ring

4 #12 x 1" Phillps Type A zinc screws Aftaching seat to swivel (after It is altached to frame)
4 Va - 20 x 1-1/4" Phillips zinc rmachine bolts Attaching swivel to top of frame [before step above)
4 Va - 20 x 1-3/4" Phillips zinc machine bolts Attaching ring to frame

8 Va - 20 nylon lock nuts Y4 - 20 machine olts mentioned above

4 1" Plastic Glides Bottom of 4 legs

Tools Reguired

Power Screwdriver (recommended) or #3 Phillips-head screwdriver
7/16" wrench or socket (recornmended) or pliers.

Hammer

Assembly Directions
1. Stand BOTTOM LEG on the floor and set the TOP LEG over it, perpendicular fo the Bottom Leg.

Slide the ring over the fop of the 2 legs, and clign the screw holes.

2, Insertthe /- 20 x 1-3/4" bolts (the longer bolts) from the outside (through the ring first, then through the
frame). Insert all 4 bolts, then attach the nuts by hand (the nuts will only go on 1 way, with the nylon face
away from the bolt). Hand fighten all 4 nuts, and then proceed to fully tighten the nuts and bolts. Be sure

to check the alignment of the TOP of the frame while attaching the bolts,

3. Setthe Swivel on top of the finished frame. NOITE - There is no Top or Boftom of the Swivel--either side can
go on the top of the frame. Align the bottom set of holes (the side touching the frame) with the holes in
the frame, Insert the V- 20 x 1-1/4" bolts (the shorter bolts) from the fop (through the Swivel first, then info
the frame). Insert all 4 of the bolts, then affach the nuts by hand (they will only go on 1 way). Hand

fighten all 4 nuts, then proceed to fully tighten the nuts and bols.

4. Take the Logo seat, and set it upside-down on a clean, smooth surface. Place the fop of the Frame-
Swivel assembly onfo the seat bottomn, and align the screw holes. Insert all 4 screws part way,

then fully fighten.

5. Tap the plastic glides onto each of the legs. Tum the fully-assembled stool over, and check to make
sure that the frame sits flat. If it does NOT, fap the glides as needed. Once the frame sits flat, you have

completed the assembly. Congratulations!

6. Periodically check bolts, nuts and screws to ensure tightness

Botiom Leg

Align legs & ring.

*:lean. smooth ¢

Trarnut @ o

Step #2
Aftasch fing with
dl 4 bolls & nufs.

Tap onfo legs
Adjust as Needed
lides

Step #3

Altach swivel o flame,

surface
Step #4
Aftach seat. Si?g%ﬁﬁss

Bottom Leg

Top leg

[ AN

#12x 1"
Screw

S 1-1/4"
(IR 1 -3/4°

Bolts

m [

174" Nut Glide

Swivel
Lo

Logo Sect

Ring

C:\Wly Docurnents\Assy Instructions 1950 Stool Final




